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SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N Hws2
A= 2,523,412 99,915 2,423,497
2 920,000 0 920,000
Al 1,500,000 0 1,500,000
2| 103,412 99,915 3,497
Zede @ 29 2,510,275 86,778 2,423,497
2 920,000 0 920,000
Al 1,500,000 0 1,500,000
2t 9,275 86,778 3,497
A= 2,502,398 78,901 2,423,497
2 920,000 0 920,000
Al 1,500,000 0 1,500,000
2t 82,398 78,901 3,497
WY FEL2AY 9,520 6,023 3,497
201 s 3,340 5,073 A1,733
01 AR ell 3,340 5,073 ~1,733
Oz H3 Nz 0 1,733 A1,733
ALK HTH 33 0 0 1,733 ~1,733
405 XHatE St 5,230 0 5,230
01 AHNYLSEFHSH] 5,230 0 5,230
ODFMIH SZAY soa 237 5,230 0 5,230
SR 330, 00024 #30H 990 0 990
- 5lo/g oX 70,0002 %1274 2,040 0 2,040
SNEES 250, 00024 *2JH 500 0 500
EREEEIS] 1,600,002 * 1CH 1,600 0 1,600
S0ERCS 10,0002 * 124 100 0 100
WHHISTAY 8 1,500,000 0 1,500,000
Al 1,500,000 0 1,500,000
401 AlEHIL 2O 1,500,000 0 1,500,000
Al 1,500,000 0 1,500,000
04 AlZH] 1,500,000 0 1,500,000
OMBHIZZAY S 1,500,000,000%! 1,500,000 0 1,500,000
ALt 1,500,000 0 1,500,000
HEHSE AA 600,000 0 600,000
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SA - SR(E) - HRAY - BES 0 & 24 pJE-T HIRE
MHEHIESE AEAMY = 600,000 600,000
401 AIEHIZ=20Y] 600,000 600,000
= 600,000 600,000

04 Al&HI 600,000 600,000
OMEHISE AEHAS 600,000,000 600,000 600,000

= 600,000 600,000

StHNEXNRES &= 320,000 320,000
= 320,000 320,000

802 Etet=JIE 320,000 320,000
= 320,000 320,000

03 UHd=sS 320,000 320,000
OsuEIRYES &= 320,000,000& 320,000 320,000

= 320,000 320,000




